\ /7 4 £ 7 /A

VITUS DESCRIPTION

MANUFACTURE PART # QTY

DESCRIPTION

. DOMINER 2016+ REAR AXLE VDA-HAX 1 DOMINER 2016 ONWARDS
DOMINER 2019 ONWARDS
A29C-WS 1
. VITUS X CABLE GUIDE KIT YOZU -14-143X-183Y 1 DOMINER 2013 ONWARDS
DOMINER 2016 ONWARDS
DOMINER 2019 ONWARDS
M5X12MM 1 ALL ESCARPE & SOMMET 2015 ONWARDS
ALL ESCARPE & SOMMET 2018 ONWARDS
TRUNNION MOUNT SHOCK VTA_TR ‘] ALL VITUS FRAMES WITH TRUNNION MOUNT SHOCKS
BOLT KIT 2018+ DOMINER 2019
“DOMINER 2019 ONLY" ESCARPE/SOMMET 2018
VPA-BWS 1 SOMMET 29 2020
ESOMMET 2018
SHOCK BOLT ATRB-SBT 1 THIS IS A SINGLE SHOCK BOLT FOR THE
FOLLOWING VITUS SUSPENSION FRAMES:
- ESCARPE 2015-2017 - REPLACEMENT FOR BOTH
TOP AND BOTTOM SHOCK BOLTS
- SOMMET 2015-2017 - REPLACEMENT FOR BOTH
TOP AND BOTTOM SHOCK BOLTS
- DOMINER 2016-2018 - REPLACEMENT FOR BOTH
TOP AND BOTTOM SHOCK BOLTS
- ESCARPE 2018+ (SEE NOTE BELOW)
- SOMMET 2018+ (SEE NOTE BELOW)
- ESOMMET 2018+ (SEE NOTE BELOW)
REPLACEMENT FOR BOTTOM SHOCK BOLT (TO
REPLACE THE TOP SHOCK BOLT PLEASE USE
TRUNNION MOUNT SHOCK BOLT KIT 2018+)
. DH HORST LINK KIT VDA-SPV-4MM 1 KIT TO REPLACE THE BOLTS & SPACERS OF THE
CHAINSTAY/SEATSTAY PIVOT. THIS KIT IS ONLY FOR
1 SIDE. 2 KITS ARE REQUIRED PER FRAME. NO
VDA-WS 2 BEARINGS INCLUDED.
G65A-RCP 1
B228(M6*16L) 1
l DH MAIN PIVOT KIT VDA-LBT-78L 1 KIT TO REPLACE THE AXLE & SPACERS FOR THE
MAIN PIVOT. NO BEARINGS INCLUDED.
AFDC-CWS 1
VDA-MPWS 2
VDA-MPS 1
I DH V-LINK PIVOT KIT VTA-LWS-MP 2 KIT TO REPLACE THE BOLT, WASHER, SPACER &
THREADED ELEMENT OF THE MAIN PIVOT ON THE
SUSPENSION LINKAGE. NO BEARINGS INCLUDED.
VTA-LCV 1
VDA-LAX 1 KIT TO REPLACE THE AXLE & SPACERS FOR THE
MAIN PIVOT. NO BEARINGS INCLUDED.
B227(M8*16L) 1
I DH V-LINK SEATSTAY PIVOT KIT VTA-LWS 2 KIT TO REPLACE THE BOLT & WASHERS OF THE
REAR PIVOT ON THE SUSPENSION LINKAGE. THIS
KIT IS ONLY FOR 1 SIDE. 2 KITS ARE REQUIRED PER
VTA-SAX 1 FRAME. NO BEARINGS INCLUDED.
I HANGER 4 - DOMINER 2016-19 VDA-HG 1 DERAILEUR HANGER KIT FOR ALL DOMINER
FRAMES.
M3*16L 1

VPA-BWS
6900-2RS

J VTA-TR

6900-2RS

“

o

6901-2RS
VTA-LCV
M8x16L-M

VTA-LW
6901-2RS

VTA-LWS
VTA-SA

6903-2RS A6DA-BNT
VDA-MPWS
A6DA-BB

A6DA-BAX A29C-WS
AFDC-HAX -5mm
SLF-SPV - 4mm
VDA-WS
6800-2RS
6800-2RS
VDA-WS

G65A-RCP

B228

RECCOMENDED TORQUE VALUES

SHOCK BOLTS 15NM
V-LINK PIVOT 15NM
V-LINK SEAT STAYS 15NM
HORST LINK 6NM
MAIN PIVOT 6NM
HANGER 3NM
CABLE GUIDES 4ANM
VTA-LWS-MP
6901-2RS
VDA-LAX
VTA-LWS
6901-2RS
VTA-LWS
VTA-SAX
B228
N G45A-RCP
Y 690328 VDA-WS

VDA-MPWS
VDA-MPS

VDA-HG
M3x16L-P
M3x16L-P

LI TN E /e




